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Compare with Signal process
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Truth Dis

- 1600 -
2500 — oo F
2000 - Sigma 1200 Sigma
- 1000 —
1500 [— 800 —
C 600
1000 — -
- 400 —
500 200 |
u 0 11 1 | I 1 1 | 11 1 | | - I L1 | | 11 | | 11 | I 11 1
O 11 1 I 11 1 I 11 1 | 1 1 | 11 1 | 111 I L1 1 I | - | 11 O 20 40 60 80 ](X) ]20 140 160 180
0 20 40 60 80 100 120 140 160 180 Ang_proton_pi0
Ang_proton_gam
220 X10° =10’
E — Low + High 120 -
200 £ “r
c — Low vy X
180 . i
- — High y 100
160 — o i
o 7 E - [
S Y £ 60
100 = I1 HLL § [
80 |- HJ e M dof
- ~ 1, -~
o - Y e 20
40— < N, =
- _jJ -
ZOII 11"-.,‘_‘ i} I E o n a1 g g o 1 4 3
0 1 L L | 11 L I L1 1 | 1 L L | L L L Ilhl'f-‘fi LI L 1 | L L L I L ‘] I.u .1.] .-'“] "1:] St] HF

0 20 40 60 80 100 120 140 160 180

o 0, ()
0, ()



Truth Dis
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Event Selection of X~ — prr® SETEHIRIY - py Bt R

> Good Charged Tracks > ¥ (from ™) Selection
« V. <2cm, |V,| <10cm « 116 <M,, < 148 MeV /c?
* |cosf| < 0.93 * 1Cis performed
© Xic <25

» PID (Use dedx+TOF)

* Proton: p > 0.5 GeV/c && PID: Prob(p) > Prob(K/m) » ¥~ Selection

* nProton ==1 && nPbar == »  Select the combination of p, 7r% with minimum |M0 — My+|

» Shower Selection * Mo — My+| <13.5MeV
 |cos8] <08, E > 25MeV . Mgfr%o” is in * region
 0.86 < [cosO| <0.92,E > 50MeV
e 0LTDC £14

Angshower,ChgTrk = 10° (fOI’ ﬁ = 200)
Nshower > 2



PHSP Signal MC

Gamma match angle: 10°

Mass Window: [1.1758, 1.2028]
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BKG Ana
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Yield Extraction of X~

Signal Shape: truth matched signal MC convolve a Gaussian function

J/¥ - A*A™ BKG Shape: PHSP MC from incMC convolve a Gaussian function

Residual BKG: 3@ Chebychev polynomial

Fit Range: 1.07 < M5e¢®! < 1.32 GeV
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Nsig = 1571251524 - 0
Y — pn
Nbkg = 459631404
N, x*ndf =0.97 Inclusive MC

Signal BKG
Input 156975 46113
Output | 157125 + 524 | 45963 + 404
Diff(X o) 0.29 0.37
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Event Selection of =t — pr®

> %~ Selection
» Good Shower Selection w':{
« No contain the y from above 7° (from £~ — pr®) L %W%'“H]l
* Common Selection R
° Angshower,ChgTrk > 10° (fOI‘ ﬁ = 200) 16000 0.921 < h/[n <0.963:  — Slgnal MC
* Nshower > 2 All = 182874 ——- 1" matched
<~ 14000 | matched = 178271 | || | 2 unmatched
» 2C Kinematic fit § 12000 unmatched = 4603
«  On the hypothesis of prt%pyy é) __unmat/ all =2.52%
« Loop all y pairs, perform: - 10000 -
. BBl g9 8000 —
D0 N N
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. BPT Response > 015 | g 4000 —
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BKG Ana
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Residual BKG
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Mean x 1.188
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Yield Extraction of DT (2D-Fit)

Signal BKG
» Signal Shape: MC Shape @ Gaussian Input 73430 18871
, : : MC Shape
using RooNDKeysPdf. The ratio of +— Nfgm s fixed. Output | 73766 262 | 18544 & 127
> Fit Range: [0.85 < MF°°°" < 1.03] x [1.07 < Me6°" < 1.32 GeV] Diff(x o) 1.29 257

5(](}7
N 300?
10000 [— ‘ E
20(}_
i w
B 0.!;5
5000 —
0 o g s f SSme sy Jrl e f fosiopanag
0.85 0.9 0.95 1

M5! (GeV/c?)

6000 —

4000 —

2000 —

ir J L 1 I | l | ! 1. q)

R 1.15

Recoﬂ
pn"

1.2

(GeV/c?)

1.25 13




Check Pdf

Events / ( 0.0018 )

Events / ( 0.0018 )

0.85 0.9 0.95 I
Mproton (KeysPdf)

-3 09
Mproton (KeysPdf)

0.95 1

Events / ( 0.0025)

Events / ( 0.0025)

150

50

150

Residual BKG

ST unmatched BKG

115 12 125
RM_Sigma (KeysPdf)

115 12 125
RM_Sigma (KeysPdf)

Events

é [ 0801%){ 0.3025;.]

o
o

Be & tho@

il
) t T
‘il.‘li.lqll‘,jl““ k
!

AR s Q1 1.02

0.9% f
EJ:?}J; 0.86" 33; un(‘ﬂﬂ"“?d]




Check Pdf
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